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Test 22: Mixed

1 	 a)	 Circle the two equations that are represented by this bar model.

		

c

b b b 4

		  c – 4 = 3b      3b – 4 = c      3b + 4 = c      4 = c + 3b�
1 mark

	 b and c are different numbers less than 10.

	 b)	 Write the values they could be.

		  b =         c =   �
1 mark

2 	 A notebook costs £7.20. A pen costs £1.89.

	� How much more does the notebook cost than the pen?   £ �
1 mark

3 	 Here are some signs.

	 <      >      =

	 Write the correct sign in each box.

	 700 hours     4 weeks      2 days     2,880 minutes�
1 mark

4 	� Mr Jones needs to buy 147 cupcakes 
for the Year 6 party.

	 How many boxes should he buy?   boxes �
1 mark
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